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1. In Fund A, the accumulated value of 1 at any time 1> 0is 1+12¢.

In Fund B, the accumulated value of 1 at any time 1> 0 is 1+ 6¢ 7
T is the time when the force of interest for Fund A is equal to the force of interest for Fund B.

Calculate 7. [1.b-f #20]
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2. You are given:
() A(t)=Kt*+Lt+M for 0<1<3
(i) A4(0)=200
Giiy A(1)=232
(v) A(3)=368
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Determine the force of interest at time [ = -5 [1.b-f #30]
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3. Tawny makes a deposit into a bank account which credits interest at a nominal rate of 6% per annum, convertible
semiannually.

At the same time, Fabio deposits 3000 into a different bank account, which is credited with simple interest.

At the end of 10 years, the forces of interest on the two accounts are equal, and Fabio's account has accumulated to
Z.

Determine Z. [1.b-f #03]
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At time 0, 1900 is deposited into Fund X and also into Fund Y. Fund X accumulates at a force of interest

o = 0.4(1+t)‘2. Fund Y accumulates at an annual effective interest rate of i. At the end of 8 years, the
accumulated value of Fund X equals the accumulated value of Fund Y.
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Determine i. [1.b-f #06]
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> At force of interest 5,=-1-96-5§;, 0 <1 <14, the following payments have the same present value:
+U.
(i) X at the end of year 7 plus 2.X at the end of year 13; and
(ii) Yatthe end of year 19. oy = |+0.S¢E

Calculate Y/ X. [1.b-f #08]
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